Lab1 Checkoffs

Name:

__________________________

Name:

__________________________

TA:

__________________________

Credit:
____100%
____50%

Oscilloscope Measurements:

Draw 1 period of observed signal:


Draw 1 period of observed signal in BW limit mode:

Measurements:

Cursors:

1 period (ns):



frequency (calculated, MHz):

fall time (ns): 



rise time (ns):

Overshoot settling (ns):

voltage overshoot (mV):

voltage undershoot (mV):

peak to peak voltage (mV):

Automated:

1 period (ns):



frequency (MHz):

Duty Cycle (%): 


Peak to Peak Voltage (V):

Average Voltage (V): 


RMS Voltage (V):

Dual Probes:

Rising  to rising delay (ns):

Rising to falling delay (ns):

Logic Analyzer Measurements:


LA delay of carry out (ns):


Oscilloscope approx. delay (ns):


Why is there a difference here?


What is the minimum delay that the logic analyzer can measure? And the scope?


What is the reset state:


What is the normal state sequence:


What is the new state sequence when pressing a switch?:

